
original AST

shallow copy of 0x0002

deep copy of 0x0002

ExpArithmetic

Operator: +

this: 0x0000

left: 0x0001

right: 0x0002

ExpInteger

this: 0x0001

value: 42

ExpRelation

Operator: >

this: 0x0002

left: 0x0003

right: 0x0004

ExpInteger

this: 0x0004

value: 44

ExpInteger

this: 0x0003

value: 43

ExpRelation

Operator: >

this: 0x00fa

left: 0x0003

right: 0x0004

ExpRelation

Operator: >

this: 0x0ffa

left: 0x0003

right: 0x0004

ExpInteger

this: 0x0f04

value: 44

ExpInteger

this: 0x0f03

value: 43


